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arteriole

hair

hair follicle

subcutaneous fat

sebum

sebaceous gland

skin

cortex

sweat gland

vasoconstriction

vasodilation

blood glucose level

loop of Henle

phagocytosis

phagocyte

urea

urine

urethra

antitoxin

antigen

antibody

liver

keratin

urinary system

inflammatory response

epidermis

proximal convoluted
tubule

non-specific body defence

sphincter muscle

vaccine

vaccination

negative feedback

specific body defence

primary response

pathogen

dermis

insulin

pancreas

memory cell

glucagon

excretion

lymphocyte

glomerulus

glomerular filtrate

nephron

pelvis

renal artery

renal vein

kidney

ultrafiltration

collecting duct

melanin

osmoregulation

urinary bladder

distal convoluted tubule

erector muscle

diabetes mellitus

afferent arteriole

efferent arteriole

ureter

selective reabsorption

Bowman's capsule

secondary response

medulla

homeostasis
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 binary fission 68

 diploid / diploid number 59, 145

 Human Genome Project (HGP) 144

 /  ovary 73, 82

 uterus 82

 uterine lining 84

 diaphragm 93

 cervix 91

 intrauterine device (IUD) 94

 cotyledon 77

 arteriole 18

 discontinuous variation 156

  fossils 165

 region of differentiation 101

 meristem 101

 birth 91

 catabolism 95

 chemical mutagens 159

 menstruation 85

 menstrual cycle 84

 hair 17

 hair follicle 17

 DNA 59, 140

 breast-feeding 92

 growth 95

 reproductive system 80

 subcutaneous fat 17

 sebum 17, 25

 sebaceous gland 17

 skin 16

 cortex 8

 identical twins 88

 progesterone 94

 zygote 67

 perennating organ 69

 rhythm method 92

 sexual reproduction 67, 80

 mitosis 60

 mitotic cell division 58

 sweat gland 17

 amnion 91

 amniotic fluid 91

 self-pollination 73

 natural selection 167

 colour blindness 143

 vasodilation 19
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